B DOEL (3 X7 %)

A F — A 4 iR 7 | NEAL
1| HFEXY 7 b T =2HEA ® | 2/2 1
2 | REY7 b T=2HE ® | 12 2
3 |y 7 N T = A 0/ 2 3
B 5 — . % 7 [ W 7 | A
4 | HBETY 7 T =R A @ | 3/3 1
5 |4V 7 b T=AHEB @ | 13 3
6 | ABRYTNT=AGE @ | 2/3 2
7 HGY 7 T =AHEA 0/3 4
C F — AN 4 11 | % % | IEfE
8 | WY T hNTFr=AHa © | 3/3 1
9 |HEHY T b T =ABEA 0| 0/3 4
10 | KXY 7 b T =AWHE 0 | 1/3 3
11 |EAY 7 T =AHEB 2/3 2
D F — A 4 14 | W% % [ AR
12 | HREX Y 7 M T =R @ | 2/2 1
13 | HEXY 7 b T=AHEB 1 | 02 3
14 | BABTHY 7 b T =AHEB 1/2 2




B O} P h—F A b

FEXY 7 N T2 AHEA

BRTHY 7 N T =AHEA

WAL FEXY 7 FT=RBEA
BN EEEX Y 7 = A
HAN HEEY T T =RABAA

WAL WY T RTF=AHE
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CRKY 7 T =R
CRKEXY 7 T =AW

CEWEX Y T N T = AE
YT N T = AHE

B FE Y T T = AGE
cE=mETY 7 T = AHEA
=T 7 N T = AHEB
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10 -
11 -
12 -
13 -
14 -

D XY T =2

LB Y 7 NT = A A
B Y 7 b T = AHEB

HAEY 7 N T =AM A
AaY 7 b T =AHaB
AEY 7 T =AM
HEXY 7 h T =2 A
HREXY 7 b7 =22 B



